



Contents list available at JMCS

Journal of Mathematics and Computer Science

Journal Homepage: www.tjmcs.com



λ -FUZZY FIXED POINTS IN FUZZY MRTRIC SPACES

A. Shoja

Department of statistic and mathematics,

Azad university of roodehen branch, Roodehen, Iran

shoja@riau.ac.ir

H. Mazaheri and R. Sarikhani

Department of Mathematics,

Yazd University, Yazd, Iran

hmazaheri@yazd.ac.ir

Article history:

Received October 2013

Accepted January 2014

Available online January 2014

Abstract

In this paper fuzzy metric space and λ -fuzzy fixed points for maps in fuzzy metric spaces are redefined. Instead of fuzzy numbers or real numbers are used to define fuzzy metric.

Key words and Phrases : Fuzzy metric space, λ -Fuzzy fixed point, Fuzzy Cauchy sequence, fuzzy Complete metric space.

1 Introduction

The concept of fuzzy sets was introduced by Zadeh [11]. It was developed extensively by many authors and used in various fields. To use this concept in topology and analysis, several researchers have defined fuzzy metric spaces in various ways. Many authors have studied fixed point theory in fuzzy metric spaces for fuzzy mappings (see [1-10]).

In this paper, we give an implicit relation on fuzzy metric spaces and present some fixed point theorems. This theorems are generalization of some previous fixed point theorems given by some authors. Now, we begin with some definitions, and we consider λ -fuzzy fixed point in fuzzy metric spaces.

2 FUZZY METRIC SPACE

For the convenience of reading, some basic concepts of fuzzy points and denotations are presented below. Fuzzy point are the fuzzy sets being of the following from in the sense of Pu [6],

$$x_\lambda(y) = \begin{cases} \lambda & y = x \\ 0 & y \neq x \end{cases}$$

where X is a nonempty set and $\lambda \in [0,1]$ In this paper, fuzzy points are usually denoted by (x, λ) and the set of all the fuzzy points on X is denoted by $P_F(X)$. Particularly, when $X = R$, is denoted by $S_F(R)$.

Definition 2.1. Suppose (x, λ) and (y, γ) are two fuzzy points. A series of definitions contains the following onse;

- (1) We say $(x, \lambda) \pm (y, \gamma)$ if $x > y$ or $(x, \lambda) = (y, \gamma)$.
- (2) (x, λ) is said to be no less than (y, γ) if $x \geq y$, denoted by $(x, \lambda) \succ (y, \gamma)$
- (3) (x, λ) is said to be nonnegative if $x \geq 0$.

The set of all the nonnegative fuzzy scalars denoted by $S_F^+(R)$.

We now present the definition of ordinary fuzzy metric spaces except that \leq is replaced by \prec in the triangle inequality. This is because that there exist no reasonable complete order in $S_F^+(R)$.

Definition 2.2. Suppose X is a nonempty set and

$$\rho_F : P_F(X) \times P_F(X) \rightarrow S_F^+(R)$$

is a mapping. $(P_F(X), \rho_F)$ is said to be a ordinary fuzzy metric space if for any $(x, \lambda), (y, \gamma), (z, \rho)$ in $P_F(X)$, ρ_F satisfies the following three conditions,

- (1) $\rho_F((x, \lambda), (y, \gamma)) = 0$ iff $x = y$ and $\lambda = \gamma = 1$, therefore $(x, \lambda) = (y, \gamma)$;
- (2) $\rho_F((x, \lambda), (y, \gamma)) = \rho_F((y, \gamma), (x, \lambda))$;
- (3) $\rho_F((x, \lambda), (z, \rho)) \prec \rho_F((x, \lambda), (y, \gamma)) + \rho_F((y, \gamma), (z, \rho))$. ρ_F is called a fuzzy metric defined in $P_F(X)$ and $\rho_F((x, \lambda), (y, \gamma))$ is called a fuzzy distance between the two fuzzy points

Example 2.1 Suppose $(P_F(X), \rho_F)$ is an ordinary fuzzy metric space. The distance of any two fuzzy points $(x, \lambda), (y, \gamma)$ in $P_F(X)$ is defined by

$$\rho_F((x, \lambda), (y, \gamma)) = (d((x, y), \min\{\lambda, \gamma\})),$$

where $d(x, y)$ is the distance between x and y defined in metric space (X, d) . Then $(P_F(X), \rho_F)$ is a ordinary fuzzy metric space.

Proof. It suffices to prove that ρ_F satisfies the three conditions in Definition 2.2

(1). Suppose (x, λ) and (y, γ) are two fuzzy points in $P_F(X)$. Since $\rho_F(x, y)$ is a distance between x and y , one has $\rho_F(x, y) \geq 0$.

It follows that $\rho_F((x, \lambda), (y, \gamma)) = (d(x, y), \min\{\lambda, \gamma\}) = 0$ which is equal to that $x = y$ and $\lambda = \gamma = 1$.

(2). For any $\{(x, \lambda), (y, \gamma)\} \subset P_F(X)$, one has

$$\begin{aligned} \rho_F((x, \lambda), (y, \gamma)) &= (d(x, y), \min\{\lambda, \gamma\}) \\ &= (d(y, x), \min\{\gamma, \lambda\}) \\ &= \rho_F((y, \gamma), (x, \lambda)). \end{aligned}$$

(3). For any $\{(x, \lambda), (y, \gamma), (z, \rho)\} \subset P_F(X)$,

$$\begin{aligned} \rho_F((x, \lambda), (z, \rho)) &= (d(x, z), \min\{\lambda, \rho\}) \\ &< (d(x, y) + d(y, z), \min\{\lambda, \rho, \gamma\}) \\ &= (d(x, y), \min\{\lambda, \gamma\}) + (d(y, z), \min\{\gamma, \rho\}). \\ &= d((x, \lambda), (y, \gamma)) + d((y, \gamma), (z, \rho)). \end{aligned}$$

The example given above show that a ordinary fuzzy metric space can be constructed by a metric space in the usual sense, called an induced metric space of it and the metric of the space is an induced metric of the original one.

Definition 2.3. A λ -fuzzy set A can be regarded as a subset of fuzzy points in $P_F(X)$, i.e.,

$$\{(x, \lambda) : A(x) \geq \lambda\}$$

The set of all the λ -fuzzy sets on X is denoted by $P_F^\lambda(X)$;

$$P_F^\lambda(X) = \{(B, \lambda) : B \text{ is } \lambda\text{-fuzzy set}\}.$$

Definition 2.4. Let $\{(x_n, \lambda_n)\}$ be a sequence of fuzzy scalar. We say that the sequence $\{(x_n, \lambda_n)\}$ is convergent to (x, λ) , $\lambda \neq 0$, and write $\lim_{n \rightarrow \infty} (x_n, \lambda_n) = (x, \lambda)$ if $\lim_{n \rightarrow \infty} x_n = x$ and

$\{\lambda_i \mid \lambda_i < \lambda, i \in N\}$ is a finite set and there exists a convergence subsequence of λ_i , denoted by λ_{i_k} , such that $\lim_{k \rightarrow \infty} \lambda_{i_k} = \lambda$.

Definition 2.5. Let X be a fuzzy metric space, $A, B \in P_F^\lambda(X)$ and $T : (A, \lambda) \cup (B, \lambda) \rightarrow (A, \lambda) \cup (B, \lambda)$ be a map such that $T((A, \lambda)) \subseteq (B, \lambda), T((B, \lambda)) \subseteq (A, \lambda)$. The point $(x, \lambda) \in (A, \lambda) \cup (B, \lambda)$ is fuzzy fixed point of T , if $T(x, \lambda) = (x, \lambda)$.

Definition 2.6. A sequence of fuzzy points $(x_n, \lambda_n) \in (P_F(X), \rho_f)$ is said to be a fuzzy Cauchy sequence if there exists a $\lambda \in (0, 1]$ such that

$$\lim_{n \rightarrow \infty} \rho_F((x_{m+n}, \lambda_{m+n}), (x_n, \lambda_n)) = 0 \quad \forall m \in N.$$

Definition 2.7. An induced fuzzy metric space is said to be complete if any fuzzy Cauchy sequence in it has a unique limit in the space.

3. λ – Fuzzy fixed point

In this section we present λ – fuzzy fixed point theorems;

Theorem 3.1. Let X be a fuzzy complete metric space, $A, B \in P_F^\lambda(X)$ and $T : (A, \lambda) \cup (B, \lambda) \rightarrow (A, \lambda) \cup (B, \lambda)$ be a map. There is a continuous map $\varphi : S_F^+(R) \rightarrow [0; 1]$, $\varphi(\rho_F((x, \lambda); (y, \lambda))) < b$, $\varphi(0) = 0$, $b < 1$, $\alpha + 2\beta < 1$, $(x, \lambda), (y, \lambda) \in P_F(X)$ and one of the following statement is satisfy;

$$(i) \quad \rho_F(T(x, \lambda), T(y, \lambda)) < \varphi(\rho_F(x, \lambda), (y, \lambda))(\alpha \rho_F((x, \lambda), (y, \lambda)) + \beta(\rho_F(x, \lambda), T(x, \lambda)) + \rho_F((y, \lambda), T(y, \lambda))),$$

$$(ii) \quad \rho_F(T(x, \lambda), T(y, \lambda)) < \varphi(\rho_F(x, \lambda), (y, \lambda))(\alpha \rho_F((x, \lambda), (y, \lambda)) + \beta \rho_F(T(x, \lambda), (y, \lambda))),$$

$$(iii) \quad \rho_F(T(x, \lambda), T(y, \lambda)) < \varphi(\rho_F(x, \lambda), (y, \lambda))\alpha \rho_F((x, \lambda), (y, \lambda)) + \beta \rho_F(T(x, \lambda), (y, \lambda)).$$

then T has an unique fuzzy fixed point in $(A, \lambda) \cup (B, \lambda)$.

Proof. Choose $(x, \lambda) \in P_F(X)$, suppose (i) is true, then

$$\begin{aligned} \rho_F(T(x, \lambda), T^2(x, \lambda)) &< \varphi(\rho_F((x, \lambda), T(x, \lambda)))(\alpha \rho_F((x, \lambda), T(x, \lambda)) \\ &+ \beta(\rho_F((x, \lambda), T(x, \lambda)) + \rho_F(T(x, \lambda), T^2(x, \lambda))) \\ &< b(\alpha \rho_F((x, \lambda), T(x, \lambda))) \end{aligned}$$

$$+ \beta(\rho_F((x, \lambda), T(x, \lambda)) + \rho_F(T(x, \lambda), T^2(x, \lambda)))$$

Therefore

$$\rho_F(T(x, \lambda), T^2(x, \lambda)) < \frac{\alpha b + \beta b}{1 - \beta b} \rho_F((x, \lambda), T(x, \lambda))$$

Now if $k = \frac{\alpha b + \beta b}{1 - \beta b}$, then $k < 1$ and

$$\rho_F(T(x, \lambda), T^2(x, \lambda)) < k(\rho_F((x, \lambda), T(x, \lambda)))$$

Also $\rho_F(T^2(x, \lambda), T^3(x, \lambda)) < k^2(\rho_F((x, \lambda), T(x, \lambda)))$, therefore

$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) < k^n(\rho_F((x, \lambda), T(x, \lambda)))$, for all $n \geq 1$.

Suppose (ii) is true then

$$\begin{aligned} \rho_F(T(x, \lambda), T^2(x, \lambda)) &< \varphi(\rho_F((x, \lambda), T(x, \lambda)))(\alpha \rho_F((x, \lambda), T(x, \lambda))) \\ &+ \beta \rho_F(T^2(x, \lambda), T(x, \lambda)) \\ &< b(\alpha \rho_F((x, \lambda), T(x, \lambda))) + \beta \rho_F(T(x, \lambda), T^2(x, \lambda)) \end{aligned}$$

Therefore

$$\rho_F(T(x, \lambda), T^2(x, \lambda)) < \frac{\alpha b}{1 - \beta b} (\rho_F((x, \lambda), T(x, \lambda))).$$

Now if $k = \frac{\alpha b}{1 - \beta b}$, then $k < 1$ and

$$\rho_F(T(x, \lambda), T^2(x, \lambda)) < k(\rho_F((x, \lambda), T(x, \lambda))).$$

Therefore

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) < k^n(\rho_F((x, \lambda), T(x, \lambda))) \text{ for all } n \geq 1.$$

Suppose (iii) is true then

$$\begin{aligned} \rho_F(T(x, \lambda), T^2(x, \lambda)) &< \varphi(\rho_F((x, \lambda), T(x, \lambda)))(\alpha \rho_F((x, \lambda), T(x, \lambda))) + \beta(\rho_F(T(x, \lambda), T^2(x, \lambda))) \\ &< b\alpha \rho_F((x, \lambda), T(x, \lambda)) + \beta \rho_F(T(x, \lambda), T^2(x, \lambda)). \end{aligned}$$

Therefore

$$\rho_F(T(x, \lambda), T^2(x, \lambda)) \prec \frac{\alpha b}{1 - \beta b} \rho_F((x, \lambda), T(x, \lambda)).$$

Now if $k = \frac{\alpha b}{1 - \beta}$, then $k \prec 1$ and

$$\rho_F(T(x, \lambda), T^2(x, \lambda)) \prec k \rho_F((x, \lambda), T(x, \lambda)).$$

Also $\rho_F(T^2(x, \lambda), T^3(x, \lambda)) \prec k^2 \rho_F((x, \lambda), T(x, \lambda))$,

therefore $\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \prec k^n \rho_F((x, \lambda), T(x, \lambda))$, for all $n \geq 1$.

In each case

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \rightarrow 0$$

This implies $\{T^n(x, \lambda)\}$ is a fuzzy Cauchy sequence.

By fuzzy completeness of X , there is a $(x^*, \lambda) \in X$ such that $T^n(x, \lambda) \rightarrow (x^*, \lambda)$.

If (i) is true, then

$$\begin{aligned} \rho_F(T(x^*, \lambda), (x^*, \lambda)) &\prec \rho_F(T^{n+1}(x, \lambda), T(x^*, \lambda)) + \rho_F(T^{n+1}(x, \lambda), (x^*, \lambda)) \\ &\prec \varphi(\rho_F(T^n(x, \lambda), (x^*, \lambda)))(\alpha \rho_F(T^n(x, \lambda), (x^*, \lambda))) \\ &+ \beta \rho_F(T^n(x, \lambda), T^{n+1}(x^*, \lambda)) + \rho_F((x^*, \lambda), T(x^*, \lambda)) \\ &+ \rho_F(T^{n+1}(x, \lambda), (x^*, \lambda)). \end{aligned}$$

If (ii) is true, then

$$\begin{aligned} \rho_F(T(x^*, \lambda), (x^*, \lambda)) &\prec \rho_F(T^{n+1}(x, \lambda), T(x^*, \lambda)) + \rho_F(T^{n+1}(x, \lambda), (x^*, \lambda)) \\ &\prec \varphi(\rho_F(T^n(x, \lambda), (x^*, \lambda)))(\alpha \rho_F(T^n(x, \lambda), (x^*, \lambda))) \\ &+ \beta \rho_F(T^{n+1}(x, \lambda), (x^*, \lambda)) + \rho_F(T^{n+1}(x, \lambda), (x^*, \lambda)). \end{aligned}$$

If (iii) is true, then

$$\rho_F(T(x^*, \lambda), (x^*, \lambda)) \prec \rho_F(T^{n+1}(x, \lambda), T(x^*, \lambda)) + \rho_F(T^{n+1}(x, \lambda), (x^*, \lambda))$$

$$\prec \varphi(\rho_F(T^n(x, \lambda)), (x^*, \lambda)).$$

Since $T^n(x, \lambda) \rightarrow (x^*, \lambda)$ and $\varphi(0) = 0$, and φ is continuous, therefore

$$\rho_F(T(x^*, \lambda), (x^*, \lambda)) = 0, \text{ and so } T(x^*, \lambda) = (x^*, \lambda).$$

If (y^*, λ) is an another λ – fuzzy fixed point of T and (i) is true, then

$$\begin{aligned} \rho_F((x^*, \lambda), (y^*, \lambda)) &= \rho_F(T(x^*, \lambda), T(y^*, \lambda)) \\ &\prec \rho_F((x^*, \lambda), (y^*, \lambda))(\alpha\rho_F((x^*, \lambda), (y^*, \lambda)) \\ &\quad + \beta(\rho_F(T(x^*, \lambda), (x^*, \lambda)) + \rho_F(T(y^*, \lambda), (y^*, \lambda))). \end{aligned}$$

Hence $\rho_F((x^*, \lambda), (y^*, \lambda)) \prec \alpha b \rho_F((x^*, \lambda), (y^*, \lambda))$, since $\alpha b < 1$ and so

$$\rho_F((x^*, \lambda), (y^*, \lambda)) = 0.$$

Therefore,

$$(x^*, \lambda) = (y^*, \lambda)$$

and the λ – fuzzy fixed point of T is unique.

If (y^*, λ) is an another fixed point of T and (ii) is true, then

$$\begin{aligned} \rho_F((x^*, \lambda), (y^*, \lambda)) &= \rho_F(T(x^*, \lambda), T(y^*, \lambda)) \\ &\prec \rho_F((x^*, \lambda), (y^*, \lambda))(\alpha\rho_F((x^*, \lambda), (y^*, \lambda)) + \beta\rho_F(T(x^*, \lambda), (y^*, \lambda))). \end{aligned}$$

Hence $\rho_F((x^*, \lambda), (y^*, \lambda)) \prec b(\alpha\rho_F((x^*, \lambda), (y^*, \lambda)) + \beta\rho_F((x^*, \lambda), (y^*, \lambda)))$,

since $\alpha + \beta < 1, b < 1$ and $(1 - \alpha b - \beta b)\rho_F((x^*, \lambda), (y^*, \lambda)) \prec 0$ and so $\rho_F((x^*, \lambda), (y^*, \lambda)) = 0$. Therefore, $(x^*, \lambda) = (y^*, \lambda)$, and the λ – fuzzy fixed point of T is unique.

If (y^*, λ) is an another fixed point of T and (iii) is true, then

$$\begin{aligned} \rho_F((x^*, \lambda), (y^*, \lambda)) &= \rho_F(T(x^*, \lambda), T(y^*, \lambda)) \\ &\prec \varphi\rho_F((x^*, \lambda), (y^*, \lambda))\alpha\rho_F((x^*, \lambda), (y^*, \lambda)) + \beta\rho_F((y^*, \lambda), (x^*, \lambda)). \end{aligned}$$

Hence $\rho_F((x^*, \lambda), (y^*, \lambda)) < b\alpha\rho_F((x^*, \lambda), (y^*, \lambda)) + \beta\rho_F((x^*, \lambda), (y^*, \lambda))$, since $\alpha b + \beta < \alpha + \beta < 1$, $b < 1$ and $(1 - \alpha b - \beta)\rho_F((x^*, \lambda), (y^*, \lambda)) < 0$ and so $\rho_F((x^*, \lambda), (y^*, \lambda)) = 0$. Therefore, $(x^*, \lambda) = (y^*, \lambda)$, and the λ -fuzzy fixed point of T is unique.

Definition 3.1. Let X be a fuzzy metric space and $(A, \lambda), (B, \lambda) \in P_F^\lambda(X)$. We define

$$\rho_F((A, \lambda), (B, \lambda)) = \inf \{ \rho_F((x, \lambda), (y, \lambda)) : (x, \lambda) \in (A, \lambda), (y, \lambda) \in (B, \lambda) \}.$$

Let $T : A \cup B \rightarrow (A, \lambda) \cup (B, \lambda)$ be a map. We say that the point $(x, \lambda) \in A \cup B$ is a λ -fuzzy approximate best proximity point of the pair $((A, \lambda), (B, \lambda))$, if $\rho_F((x, \lambda), T(x, \lambda)) < \rho_F((A, \lambda), (B, \lambda)) + \varepsilon$, for some $\varepsilon > 0$.

Proposition 3.1. Let X be a fuzzy metric space, $T : A \cup B \rightarrow (A, \lambda) \cup (B, \lambda)$ a map and $(A, \lambda), (B, \lambda) \in P_F^\lambda(X)$. If

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \rightarrow \rho_F((A, \lambda), (B, \lambda)), \text{ as } n \rightarrow \infty.$$

then the pair $((A, \lambda), (B, \lambda))$ has an λ -fuzzy approximate best proximity pair.

Proof. For any $\varepsilon > 0$. There exists $n_0 \in N$ such that

$$\rho_F(T^{n_0}(x, \lambda), T(T^{n_0}(x, \lambda))) = \rho_F(T^{n_0}(x, \lambda), T^{n_0+1}(x, \lambda)) < \rho_F((A, \lambda), (B, \lambda)) + \varepsilon.$$

Therefore $T_0^n(x, \lambda)$ is a λ -fuzzy approximate best proximity point of the pair $((A, \lambda), (B, \lambda))$.

Theorem 3.2. Let X be a fuzzy complete metric space, $A, B \in P_F^\lambda(X)$ and

$T : (A, \lambda) \cup (B, \lambda) \rightarrow (A, \lambda) \cup (B, \lambda)$ be a map. There is a continuous map $\varphi : S_F^+(R) \rightarrow [0; 1]$, $\varphi(\rho_F((x, \lambda); (y, \lambda))) < b$, $\varphi(0) = 0$, $b < 1$ and $\alpha + 2\beta + \gamma < 1$ such that for $(x, \lambda), (y, \lambda) \in P_F(X)$ and one of the following statement is satisfy;

(i)

$$\rho_F(T(x, \lambda), T(y, \lambda)) < \varphi(\rho_F(x, \lambda), (y, \lambda))(\alpha\rho_F((x, \lambda), (y, \lambda)) + \beta(\rho_F((x, \lambda), T(x, \lambda)) + \rho_F((y, \lambda), T(y, \lambda))) + \gamma\rho_F((A, \lambda), (B, \lambda))),$$

(ii)

$$\rho_F(T(x, \lambda), T(y, \lambda)) < \varphi(\rho_F(x, \lambda), (y, \lambda))(\alpha\rho_F((x, \lambda), (y, \lambda)) + \beta\rho_F(T(x, \lambda), (y, \lambda)) + \gamma\rho_F((A, \lambda), (B, \lambda))),$$

(iii)

$$\rho_F(T(x, \lambda), T(y, \lambda)) \prec \varphi(\rho_F(x, \lambda), (y, \lambda))\alpha\rho_F((x, \lambda), (y, \lambda)) + \beta\rho_F((Tx, \lambda), (y, \lambda)) + \gamma\rho_F((A, \lambda), (B, \lambda)).$$

then T has a λ – fuzzy approximate best proximity point of the pair $((A, \lambda), (B, \lambda))$.

Proof. Let $x \in X$, (i) is true, then

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \prec k^n \rho_F((x, \lambda), T(x, \lambda)) + (1 - k^n) \rho_F((A, \lambda), (B, \lambda)), \text{ for all } n \geq 1,$$

where $k = \frac{\alpha b + \beta b}{1 - \beta b}$. If (ii) is true and $k = \frac{\alpha b}{1 - \beta b}$, then $k \prec 1$ and

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \prec k^n \rho_F((x, \lambda), T(x, \lambda)) + (1 - k^n) \rho_F((A, \lambda), (B, \lambda)), \text{ for all } n \geq 1$$

If (iii) is true and $k = \frac{\alpha b}{1 - \beta}$, then $k \prec 1$ and

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \prec k^n \rho_F((x, \lambda), T(x, \lambda)) + (1 - k^n) \rho_F((A, \lambda), (B, \lambda)), \text{ for all } n \geq 1.$$

Therefore

$$\rho_F(T^n(x, \lambda), T^{n+1}(x, \lambda)) \rightarrow \rho_F((A, \lambda), (B, \lambda)).$$

By Proposition 3.1, the pair $((A, \lambda), (B, \lambda))$ has a λ – fuzzy approximate best proximity pair. +

Theorem 3.3. Let X be a fuzzy complete metric space, $A, B \in P_F^\lambda(X)$ and

$T : (A, \lambda) \cup (B, \lambda) \rightarrow (A, \lambda) \cup (B, \lambda)$ be a map. There is a continuous map $\varphi : S_F^+(R) \rightarrow [0; 1)$,

$\varphi(\rho_F((x, \lambda); (y, \lambda))) \prec b$, $\varphi(0) = 0$, $b < 1$ and $\alpha + 2\beta + \gamma < 1$ such that for $(x, \lambda), (y, \lambda) \in P_F(X)$ and one of the following statement is satisfy;

(i)

$$\rho_F(T(x, \lambda), T(y, \lambda)) \prec \varphi(\rho_F(x, \lambda), (y, \lambda))(\alpha\rho_F((x, \lambda), (y, \lambda)) + \beta\rho_F((x, \lambda), T(x, \lambda)) + \rho_F((y, \lambda), T(y, \lambda))) + \gamma\rho_F((A, \lambda), (B, \lambda)),$$

(ii)

$$\rho_F(T(x, \lambda), T(y, \lambda)) \prec \varphi(\rho_F(x, \lambda), (y, \lambda))(\alpha\rho_F((x, \lambda), (y, \lambda)) + \beta\rho_F(T(x, \lambda), (y, \lambda))) + \gamma\rho_F((A, \lambda), (B, \lambda)),$$

(iii)

$$\rho_F(T(x, \lambda), T(y, \lambda)) \prec \varphi(\rho_F(x, \lambda), (y, \lambda))\alpha\rho_F((x, \lambda), (y, \lambda)) + \beta\rho_F((Tx, \lambda), (y, \lambda)) + \gamma\rho_F((A, \lambda), (B, \lambda)).$$

Also let (x_n, λ) be as follows by

$$(x_{n+1}, \lambda) = T(x_n, \lambda) \text{ for some } (x_1, \lambda) \in (A, \lambda) \cup (B, \lambda), n \in N.$$

If (x_n, λ) has a convergent sequence in A , then there exists a $(x_0, \lambda) \in A$ such that $\rho_F((x_0, \lambda), T(x_0, \lambda)) = \rho_F((A, \lambda), (B, \lambda))$.

Proof. For $(x_1, \lambda) \in X$, by Theorem 3.1, for every three case we have

$$\rho_F(T^n(x_1, \lambda), T^{n+1}(x_1, \lambda)) \rightarrow \rho_F((A, \lambda), (B, \lambda)),$$

that is, $\rho_F((x_n, \lambda), T(x_n, \lambda)) \rightarrow \rho_F((A, \lambda), (B, \lambda))$. Since (x_n, λ) has a subsequence (x_{n_k}, λ) that is convergent to $(x_0, \lambda) \in (A, \lambda) \cup (B, \lambda)$ and T is continuous. Therefore $\rho_F((x_0, \lambda), T(x_0, \lambda)) = \rho_F((A, \lambda), (B, \lambda))$.

References

- [1] T. Bag and S. K. Samanta, Finite dimensional fuzzy normed linear spaces, J. Fuzzy math., 11 (3)(2003), 687-705.
- [2] T. Bag and S. K. Samanta, Finite dimensional fuzzy normed linear spaces, J. Fuzzy math., 11 (3)(2003), 687-705.
- [3] S. Cobzas, Geometric properties of Banach spaces and the existence of nearest and farthest points, Abstr. Appl. Anal., (2005), no3, 259-285
- [4] S. Cobzas, Geometric properties of Banach spaces and the existence of nearest and farthest points, Abstr. Appl. Anal., (2005), no3, 259-285
- [5] H. Eshaghi-kenai, A L-fuzzy fixed point theorem in partially ordered sets and applications, TJMCS 1(2010) no. 1 40-45.
- [6] C. Felbin, Finite dimensional fuzzy normed linear space, Fuzzy sete and systems, 48(1992), 239- 248.
- [7] A. George and P. V. Veeramani, On some resulte of fuzzy metric space, Fuzzy sete and systems, 64(1994), 395-399.
- [8] A. George and P. V. Veeramani, On some resulte of analysis for fuzzy metric spaces, Fuzzy sete and systems, 90(1997), 365-368.
- [9] O. Hadzic and E. Pap, A fixed point theorem for multivalued mapping in propbalilstic metric spaces and an application in fuzzy metric spaces, Fuzzy set and systems, 127(2002), 333-344
- [10] B. M. Pu and Y. M. Liu, fuzzy topology I: Neighborhood stucture of a fuzzy point and Moore- Smith convergence, J. Math. Anal. Appl., 76(1980), 517- 599.
- [11] Zadeh, L. A. Fuzzy sets. Information and Control 8 1965 338--353.